SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 4)

TEST 2

Name:

Time: Score:

n 393709 — 270003 =

2 267960 — 25860 =

3 295898 — 294363 =

1423791 — 121351 =

5 823317 — 401115 =

6 435862 — 235660 =

N 360093 — 34083 =

¥ 221407 — 200000 =

9 611785 — 101540 =

10) 258608 — 220301 =

1) 8992583 — 3132573 =

12) 6880151 — 5510100 =

13260619 — 110102 =

1) 426328 — 425120 =

15 863055 — 650052 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 4
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447792 — 211510 =

404638 — 204334 =

699089 — 593059 =

639744 — 135542 =

229884 — 227360 =

320719 — 10319 =

429601 — 223401 =

6697845 — 3573314 =

4371417 — 4001316 =

750305 — 710200 =

332932 — 221620 =

955073 — 455052 =

776770 — 50310 =

441718 — 121300 =

729228 — 326210 =
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